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Q) What is the value of I(x —De™dx ?
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1
Q) What is the value of I(x —De™"dx ?
0

@ 0 (b) e

1 -1
(©) - (d) e

Ans: (d)
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Q) The following question consist of two statements, one
labelled as the 'Assertion (A)' and the other as 'Reason (R)'.
You are to examine these two statements carefully and select

e ] 16) & - / 1) ds

Assertion(A) : Ism xdx =2 _[ sin xdx/

Reason(R) : sin’x is an odd function v/ l A’ 7((1) 1§ odd W)Chﬂ).

(a) Both A andR are individually true and R 1s the correct
explanation of A /
(b) Both A and R are individually true but R 1s not the

correct explanation A 7((1) b= Slon ;I%
(c) Aistruebut R 1s false 9
d) AisfalsebutRist ¢ 9
) AlsialschutR strue f(-1) = gn?(1) = [.(m(— 1))

= [ o) gy )



NDA 12025 LIVE CLASS - MATHS - PART 6

Q) The following question consist of two statements, one
labelled as the 'Assertion (A)' and the other as 'Reason (R)'.
You are to examine these two statements carefully and select
the answer.

T /2
Assertion(A) : Isin? xdx =2 _[ sin’ x dx
0 0

Reason(R) : sin’x is an odd function

(a) Both A andR are individually true and R 1s the correct
explanation of A

(b) Both A and R are individually true but R 1s not the
correct explanation A

(c) Aistruebut R 1s false

(d) Aisfalse butR is true

Ans: (b)
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Q) What is the value of .[_lx | x |dx?

@) 2 ) 1
© % @ 0 ,
[f(ﬂ)dx - ‘)" 0, 57f rf(x) I 1dd, ja/a/a{x ;@
q -
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f1) = 2[1f — f(w) /s odf
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Q) What is the value of Elx | x |dx?
(@) 2 (b) 1

|
(©) 2 (d) 0

Ans: (d)
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Q) The value of I _Z(ax:‘ +bx + c) dx depends on which of the

following?

(a) Values of x only

(b) Values of each of @, b and ¢
(¢) Valueofconly

(d) Value of b only

[%_"_ Lx rcx] M )/ﬂ{r (2) - / %'C'Z

= d¢ £ 2¢ °
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Q) The value of E(aﬁ +bx+ c) dx depends on which of the

following?

(a) Values of x only

(b) Values ofeach of g, b and ¢
(¢) Valueofconly

(d) Value of b only

Ans: (c)
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Q) What is the value of the integral J_ | x| dx ?
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© 2 d -1
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: , 1
Q) What is the value of the integral J_ | x| dx ?

(@ 1 (b) 0
© 2 d -1

Ans: (a)
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at 1s *__Jla=x) X equa
WWhats | e & e

to?
(a) a (b) 24
) 0 (@) g

Ans: (d)
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Q) What [gec x° ¢y 18 equal to?
(@) log(secx®+tanx°)+c o

T 7
nlogtan(ZJr—)

(b) 2/ ke
180°
180010gtan(£+£J
() i +&
T

180010gtan(E+ = )
(d) 4 360°
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Q) What [gec x° ¢y 18 equal to?
(@) log(secx®+tanx°)+c

nlogtan(E+E)

(b) Y 2) e
180°
180°logtan(z+£J
(¢) & +c
s

180°10gtan(£+ xo)
(d) 4 360

Ans: (d)
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b
Q)If0 <a<b, then jmdx 1s equal to
X
d

@) [bl—fa| v (b) [a]—1b]
(©) 2 d 0
a | b
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?lx)

Q)If0 <a<b, then I dx 1s equal to

(@)  [b[—[al (b) [a-
(©) = (d) 0
a |

Ans: (a)
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Q) What is '[ x In x dx equal to ?
1
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Q) What is '[ x In x dx equal to ?
1

2

e+ 1 e” + 1
(@) 1 () K
e —1 e’ —1
() . (d) .

Ans: (b)
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/4
Q) What is the value of J( sin x — tan x) dx ?
-n/4
1 1 1
— e o ] —— b) —
-7+ "(%) © %
(c) O (d) V2

{(1) - Sna - Tant
,f(..x) - n (-?() — 7(0'"('1)

= g+ Tk

= - (9:')91 — Tanx) =~ 7((1)

a

/f(x) L = 0

-0

> f['x) It an odd ﬁnch’m.
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n/4
Q) What is the value of j( sin x — tan x) dx ?
-n/4
1 1 1
e o [ e b) —
-5+ ") © %
(c) 0 (d) v2

Ans: (c)

EXAMS
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Q) What is the area of the parabola x> = y bounded by the line
y=17?

1

(a) 5 Square unit (b) 3 square unit

4
(©) 3 square units

(d) 2 square units
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(@]

EXAMS

Q) What is the area of the parabola x> = y bounded by the line

y=17?
1 _ :
(a) 3 square unit (b) 3 square unit
| _ .
(€) 3 square units (d) 2 square units

Ans: (c)
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Q) What 1s
JQ de—jz [x]dx
E

=
equal to, where [ 1s the greatest integer function?

@ O (b) 1
© 2 d) 4

2 y b ’
/(%-—[x]) dv = /( -(-2)}41 + /(1'("))‘{" ’“/(“"J)d%
-9 - ) - 0

U /(x-—l)c!x
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Q) What is
IZ xdx—j2 [x]dx
=,

=
equal to, where [ 1s the greatest integer function?

@ 0 (b) 1
© 2 (d) 4

Ans: (d)
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_ X+l
Q)What 1s | ———dx equal to?
x“ +1

3
(a) %—x+4tan_l x+c (b)

3
©) %—x+2tan_lx+c d)

3
X _
2 tx+4tan Tx+e
3
x° 1
?—x—4tan_ x+c
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_ X+l
Q)What 1s | ———dx equal to?
x“ +1

3
(a) %—x+4tan_l x+c (b)

3
©) %—x+2tan_lx+c d)

Ans: (c)

3
X _
2 tx+4tan Tx+e
3
x° 1
?—x—4tan_ x+c
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Q)What 1s I : ~dx equal to?
1+ e
(@) x—logx+ec (b) x-log(tanx)+c

(¢) x-log(l+e&¥)+c (d) log (I+e%)+c
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Q)What 1s I : ~dx equal to?
1+ e '
(@) x—logx+ec (b) x-log(tanx)+c
(¢) x-log(l+e&¥)+c (d) log (I+e%)+c

Ans: (c)
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Q) What 1s the area of the region bounded by the curve

2
f(x)=1- XT, x €[-2,2],and the x-axis ?
8 sq unit 4 sq unit
(@) 3 >4 (b) e

() % sq unit (d) % sq unit
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(@]

EXAMS

Q) What 1s the area of the region bounded by the curve

2
f(x)=1- XT, x €[-2,2],and the x-axis ?
8 s unit 4 sq unit
@ 3 (b) 54
2 . 1 .
(©) ; Sq unit (d) § sq unit

Ans: (a)



NDA 12025 LIVE CLASS - MATHS - PART 6

Q) What 1s the area between the curve

T
y=cos3x, 0=<x< < and the co-ordinate axes?

1
(a) 1 square unit (b) B square unit

1
(©) 3 Square unit (d) 2 square unit
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Q) What 1s the area between the curve

T
y=cos3x, 0=<x< < and the co-ordinate axes?

1
(a) 1 square unit (b) B square unit
1 _ .
(©) 3 Square unit (d) 2 square unit

Ans: (c)

EXAMS
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/2
Q) What is J' |sin x| dx equal to?
—7/2
@ 2 (b) 1

© (d O
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/2
Q) What is I |sin x| dx equal to?
—7/2
@ 2 (b) 1
¢ = d 0

Ans: (a)
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Q) What 1s the area bounded by y =tanx, y =0 and x =

(b) ELZZ square units

(¢) 2 ({n2)square units (d) None of these

(@) (n 2 square units

n
4

?
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Q) What 1s the area bounded by y =tanx, y =0 and x =

(b) ELZZ square units

(¢) 2 ({n2)square units (d) None of these

(@) (n 2 square units

Ans: (b)

n
4

?
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) 3cosx+4sinx
Given that —dx =
2cosx+5sinx

ox
29

. What 1s the value of a ?

+ 1n|2¢osx +5$inx|+c
29

(@ 7
(b) 13
(c) 17
(d) 26



NDA 12025 LIVE CLASS - MATHS - PART 6

) 3cosx+4sinx
Given that —dx =
2cosx+5sinx

ox
29

. What 1s the value of a ?

+ 1n|2005x +5$inx|+c
29

(@ 7
(b) 13
(c) 17
(d) 26

Ans: (d)
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) 3cosx+4sinx
Given that —dx =
2cosx+5sinx

2+—In|2cosx +5sinx|+c
29 29

What is the value of 8?
(a) 7

(b) 13

(c) 17

(d) 26
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) 3cosx+4sinx
Given that —dx =
2cosx+5sinx

£+—In|2cosx +5sinx|+c
29 29

What is the value of 8?
(a) 7

(b) 13

(c) 17

(d) 26

Ans: (a)
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a+100x

Let p(a) = sinx|dx

a
What is @(a) equal to ?
(@ 0

(b) a

(¢) 100a

(d) 200
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a+100x

Let p(a) = sinx|dx -

a
What is @(a) equal to ?
(@ 0

(b) a

(¢) 100a

(d) 200

Ans: (d)
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Let f(x)=|x2 - x-2].

What is jﬂ2 flx) dx equal to?

(@ O
(b) 1

) 5/3
(d) 10/3
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Let f(x)=|x2 - x-2].

What is _[m2 flx) dx equal to?

(@ O
(b) 1

) 5/3
(d) 10/3

Ans: (d)
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Let f(x)=|x2 - x-2].
. 3 |
What 1s L flx) dx equal to?

(@) 2
(b) 3
c) 4

(d) 5
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Let f(x)=|x2 - x-2].
What is [ f(x) dx equal to?
(@) 2
(b) 3
(c) 4
[d) 5

Ans: (d)
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Let I=["2I™ 4 where f(x)=sinx and

0 glx)

glx)=sinx+cosx+ 1L

What is ®/2 dx equal to?
0 glx)

(@) ——

() —=

(c) In2

(d) 2In2
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Let r:J’;’”%dx, where f(x)=sinx and

glx)=sinx+cosx+ 1L

What is /2 dx equal to?
0 glx)

(@) ——

() —=

(c) In2

(d) 2In2

Ans: (c)
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Let f:j;’”%dx, where f(x)=sinx and

glx)=sinx+cosx+ 1L

What 1s I equal to?

T
al —+In2
(J4

(d) —+——
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Let f:j;‘”%dx, where f(x)=sinx and

glx)=sinx+cosx+ 1L

What 1s I equal to?

T
al —+In2
@

(b) Z-In2

(d) —+—
4 2 Ans: (c)
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Let

x% -1

vx? +1

2

dx = U(x) Vix) - 3In {U(x) + VIx)} + ¢

What is |U?(x) - V2(x)| equal to?
(@ 0
(b) 1
(c) 2

(d 3
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Let

x% -1

Vx? +1

2 dx = U(x) Vix) - 3In{U(x) + V[x)} + ¢

What is |U2(x) - V2(x)| equal to?
(@ 0
(b) 1
(c) 2

(d) 3

Ans: (b)
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Let

x% -1

«Jx2+1

What is U{x) V]x) equal to?

2 dx = U(x) Vix) - 3In{U(x) + V[x)} + ¢

(a) x2 + x4

b) Vx+x°
2 4
X~ + X
(c) 3

(d) 2vx? + x4
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Let

x% -1

Vx? +1

What is U{x) V]x) equal to?

2]

dx = U(x) V[x) - 3In{U(x) + VIx)} + ¢

(@ x? +x*

b)) x+x3
x2 + x4
(c) 5

(d) 2vx? +x*
Ans: (a)



NDA 12025

MATHS

DIFFERENTIAL
EQUATIONS

'NAVJYOTISIR




	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18
	Slide 19
	Slide 20
	Slide 21
	Slide 22
	Slide 23
	Slide 24
	Slide 25
	Slide 26
	Slide 27
	Slide 28
	Slide 29
	Slide 30
	Slide 31
	Slide 32
	Slide 33
	Slide 34
	Slide 35
	Slide 36
	Slide 37
	Slide 38
	Slide 39
	Slide 40
	Slide 41
	Slide 42
	Slide 43
	Slide 44
	Slide 45
	Slide 46
	Slide 47
	Slide 48
	Slide 49
	Slide 50
	Slide 51
	Slide 52
	Slide 53
	Slide 54
	Slide 55
	Slide 56
	Slide 57
	Slide 58
	Slide 59
	Slide 60
	Slide 61

